Completing the Square

Using completing the square, express the following in the form (x +a)? + b

a) x> —4x+ 15 b)n? —2n—15
c)c? +20c — 40 d) g% + 12q + 32
e)m? —4m-—5 fx?2 —8x+6
P Kk*+7k+6 i)y2 —3y+10
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Completing the Square

Using completing the square, express the following in the form (x +a)? + b

a) x* —4x+ 15 b)yn? —2n—15
x> —4x+4 —4+15 n?—-2n+1—-1-15
=(x—2)*+11 =(n—-1)%2-16
c)c? +20c — 40 d) g% + 12q + 32
2
c? +20c+ 100 — 100 — 40 q +12q2+36—36+32
= (c+10)? —140 =(q+6)—4
e)m? —4m—>5 fx2—8x+6
m?—4m+4 —4-5 x*—8a+16 —16+6
=(m-2)*-9 =(x—4)2-10
P Kk*+7k+6 i)y2 —3y+10
2 2 2 2
7 7 ) 3 3
K+T7k+|=| -|=| +6 “3y+|=| | =| +10
" +(2j (2j+ o @ @
(g 2) 28 _( jj*ﬂ
U 2) 4 YT Ty

Go to onlinemathlearning.com for more free math resources




